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c. Data and Information

I>

12|9|
o

£:10000 < k < 30000
el T2 1000 < ¢ <2000
2ol 87 : M = 15kg

®o A1|E|-I:IO| oy :
AL

I'

o

2| Cf
O

m = 6kg
MIEFOIF MIEET] BIMZ AFOIO] HE| :
ok 1 (i

e = 30cm
MIEETIOL 2IEH 217 TEAE 1 900rpm

Natural freguency @ W ‘

Damping ratio : ¢ =




1. design variables
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4. Objective function
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4. Objective function

(M —m)X=F, —cXx—kx

X(t)




4. Objective function

m(X+X )=—-F,

(M -m)X=F —cx—kx & A2 Hotg
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4. Objective function

R =kx(t) 1 t F =cx(t)
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4. Objective function
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5. |dentification of constraints
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Marmalized Amplitude

Mormalizes Amplitude vs Frequency ratio




5. |dentification of constraints
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5. |dentification of constraints
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